A & 0l & A

20229 = =3 4 3 JIEHSE3H A (chel: &)
20k 22 - HAAIY - SAAH(3IH) Ol &F oA J 3 o HwE2 e
So=
5 Al 17,889,245 16,351,857 2,537,388 16.53%
ALY 14,397,339 11,899,581 2,497,758 20.99%
HWegs 3,491,906 3,452,276 39,630 1.15%
HE2HZH 0 0 0 0.00%
g 8,427,500 5,780,682 2,646,818 45.79%
ot - =2 8,427,500 5,780,682 2,646,818 45.79%
Y =AY Hul 5,325,775 2,718,587 2,607,188 95.90%

N (HEZ+EMNEELESA) 1,910,478 1,868,644 41,834 2.24%

Y oy NYgd)Izs 28 (¥sd2E 2,533,929 40,000 2,493,929 6234.82%
=]

2 +EMS NYA(HEZ2+EHA 881,368 809,943 71,425 8.82%

A4 wel 2,967,430 2,967,430 0 0.00%
NGa4+E 2 (M4+EALSESA) 1,975,370 1,975,370 0 0.00%
NSa4+E A (METASSESH) 992,060 992,060 0 0.00%

Wegs(2Fe ) 134,295 94,665 39,630  41.86%
SHNE(ZERLENLSEHN)(ZERSE 134,295 94,665 39,630  41.86%
HE S5 H)
A= 2,666,812 2,776,242 £109,430|  A3.94%
PESTE RS 2,666,812 2,776,242 £109,430|  A3.94%
20 ZMBEH U HASS YFOFAD 2,599,701 2,709, 131 £109,430|  A4.04%
=3 MEAEIIZ 29 (MHEBIISSLE 3 1,575,608 1,575,608 0 0.00%
A
S2H 43X e (AESHSEH) 1,024,093 1,133,503 £109,430|  £A9.65%
WeES(FA=XD) 67,111 67,111 0 0.00%
SHNE(ABSHSEE) 67,111 67,111 0 0.00%
SR 4,815,030 4,815,030 0 0.00%
s -5 4,815,030 4,815,030 0 0.00%
SEZE MY 1,524,530 1,524,530 0 0.00%
SOELASEH NBAMY(SHUASSHAMY 1,524,530 1,524,530 0 0.00%
Ses)
WRES (56D 3,290,500 3,290,500 0 0.00%
PENE(SHULSSUHALSESN) 3,290,500 3,290,500 0 0.00%
=P IE-L- TTEPY 901,700 901,700 0 0.00%

Ol L XI & XHOH & 901,700 901,700 0 0.00%
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